-

AHWS

BN A Page Total

Question No. ...

o

Matricea ( Matix) ZEBH
1| | nireduction.
Considoe_the _Pollowing Table
A .| 68 4c
Malo R (5 )
Foluals | 4 (6 56
TR s an 0)(:1..7\,& of  matrix
1t % re prederfed bj
[ 17 LS 12
\ 14 16 1y
| L] 1S (O
oy
LIt - 16 2§
2| Defpnitiom
A madrie Lo o yect

(j\f()(w( Cor

oF vouw X nuae ey 05 celisvoma

eq /1T LS (0
J
N R
A 2x3  matriyx  (casttlon: ndk 6 matiy)

|n GQeremd

/ L QA Mx o mathix .
A — [ 7. — [y Oun
\ \%t)/"\xn ' ‘

\ By -~ < B/
q\

Yow (Z\(LMA



DHC]CQWM 'Fu pes (7£ ot coq

() Raa L th

eg [ 2 & -3 \
\& o/
@) Rewo mat ix
ey (¢ ~ o =)
(\ 3 ) (‘o{uﬂm,nv W\Vai Fix
1, [ C)
J =y

(44-) , gq/u/up Mﬁh“x %) ﬁ%
(ne. "é) Ca&mms-— ne mg Yows ) .m=n
) -

S 0, 03> %3/
(\all A 22 éh”s) Lo calbd ‘(ﬁod)tk?m.?

41)  Dicgonal _watvix__ Bi=0 forig

Y o

eo [ SL 6 . eaq [0 O
bz) - -~ 10o) [ deut ity thateid
(4.17 TYZQMMQW( natrx . Q=0 for i>j oric; - 3
eq /1%00) eq [0 L)
"4 20| LY
\ éfg/ a@mlrfy,‘m,mggw.
Oower Trangedee makvi " mwtrt‘xT-
ea [-§ O\
2 Lo o)
—FKQ -(? NS nD‘[cc‘TYZWAQour madr] X
[ ()



SUPPLEMENTARY ANSWER SHEET
Total marks
on this page

Question No. L Name

__‘(4‘33 S'(mmduc,_ mﬂnx . L ‘a“ V,J.

149 Skew SW tha& &‘J =G ..

( Altwnate vwlvug, Aswm mai)

R (1 R

L




s xty-=
_J

Vg |
N X
oM

N
G
noyp

S Addition o€ wettres . |

Price Trane ’m#@twm .

S (2 1 iy
MRCaMl 141— 7 aﬁq
B (T 2 oy

ﬁuﬂm&%i{mﬁ/ﬂ: ‘ 9{’; / g ; %

eoch Rind - of fwit  hy top places.

Y 2-Y: 5 o A = off I 3¢ X
- C=AtB =/ (¢t 7 - ~f0+é9;{szlé
otz gte) \2H

o FJ‘I\DQ.M WT;TQ?PH ce . M—i%’gnof:aéaimn 700)/w ‘.

o

ta

"‘.r
o

M_ilwﬁmsgoﬁ A LB age zﬁo@Q

AtB = (& + Bj) men-




Total marks
on this page

SUPPLEMENTARY ANSWER SHEET P 3

I
Question No.__ . . . Name

3 ‘#o,s
\4 2
/‘\fB <0 u/\,o%awp( loem 3x2 #2x3

| QQM, vepertico 6 additon

A+B=BtA. (‘%MM&*”) L
—P?F A +B= ( &‘j b\\ > S
S P : ( b‘j + a!j ) H\){[C’_ U, o e e et e o

Lo At (Bre) = (4 +BMC (axac?aﬁwe)w R
pf At(ﬁ+cl: At (b3 1C5 e L
- (a-t) t [l)/ t C}))Mxn - - B
T —< @'J t LU)"' C!))mxh e
| (__&J.J ﬂm)) : L
= (At 8+ c_ - -

_At0= 0tA=A_, (zop dutt, ty)

mEn ~—M¥n T mxn

ofr Anat _QM\-: (a;j 10 ) mwan
:(\01‘ at})mxn e o S o
=0t A S

-:._«Lalj Lonxn - — S _
- lq hwn

-_—_'f“(fzi (oo g)+( o




QuestionNo. . ..... ... .. ..

A HEES
Page Total

lpi

81 Mubtinlicatdim o€ makrices .
ke Blinivns 4B showe B b

;C Y‘uj'(' 4 , Qo va&rgv -

aclcovding To the Tatto

Yoz 04 1o

OYQ/A&,Q aﬁn@e M&A%D
\ 4

./;.z) AN ?y\,(‘,rmél +o [ 3 D\rapﬁ/{

/' cppl,
\

3 723
S’/'I, |




F?.xz =D KF /

67
Y S S [ [ 2 3
s 14 nf\ % §
= (16 99\ Tobn

Lro 188/ any

o dprice  how price

AB= C_ .
TL)"\

= (Ci;) e

NP AL

Ciy = N -
J = J

= &;(E.; "“a.‘z}n? t. . T &p bo?
7 7 T ~J

[ 6\
¢4 4= (2 13) R=] &
L
A_WBZ(z'! 3)/¢)
k\‘r/
= (ax [ T x65+3x4) = (29)
BxA= /L
/I (2 | 3>
L&
= [ %2 éXl 43 [Ia {1ig )\
[ =2 O €x3 = 1o :1;)
\ 4x2 4x|  4x3 \s 4|12/

A<Bo Br A .




SRR

: \
lidate Number !
_ age Tota -
| R P.S
QuestionNo. . ............

¢ p= /> [\ _ g =/-3)
C (4 -2
\3 ¢
Ax R = (2 | AN
e
3
2

3) i\ b -2\ /-4 )
4(-3) +é(2) = [~ -2)= («’L,}b[
DB VA G i 2 s 4

I
\
_/
-]
\

A'}Yl B 2x )
x ;Ld N
le ; /4
6m1—1.-dr£7 2 P\L -}-XZ
N/
nat €qual
. v
eg Wyt 2X_f3‘j=‘4 a4 _a._preduct af

IY\aiﬁrzA / X \

(& z,)kg) = &)




L ~t /{4 5/

- [ (x[t0() (X2 + 0(3))
(2x1+(—1)c—\) 252 + (4)*3)
:/ [ 2\
L3 1/
RA=/([ 2N7] ©)
EEYAENEY,

= [ (x[+22  |xp t21))

(\’IK]HAZ ~x0 + SKH)/

= [ -2\
& -3)
N ABE R A
oeplice A=/ TIN  RB=/

, b 01
Lo 2/ 7 ({ > )

Shoo that (@  (ABI(A-B) + A B*

Q> (A+B§ ‘—FF}-r2ﬁ’B~HS2




4 1. W
ididate Number

A EHE?
SR EE B BY Page Total
Question No. ...
A=l o) B=fz2\ p=/= 21
J L/ (9/ 0 (0 2}
AB= /1 0o) [=2)
Lre/leo)
~ /[ (»2104) |R2 +Oxd
/<L +p<D Ix2- foxqj
~ [2 =2
— (v 2/
AcC = /1 o\ [22)
| ( o/ e 2
= [U2torb  batps2 |
| xLt0x0 T 4022)
— /[ 2\
(7,7,)
). AB=AC .
new A% 0, :
__M%_CWH__QMZ A
B+ C
__QA,%ML AB=AC ¥ B=(
B AB=0 % A= o B=D
| oeq- A=/3 1) _ 1 3\
“J (¢ =) 78 (5 4/
AR=73 [\ /= 3|
(6 >/ (3 -%)
_ (360413 33+ | _[fo 0
(éu)ux} éx}*lc‘l‘)/ Ko‘éj
=) bt Ao R#




eqg (Lo /1 ON /1 O} _ ~+
o) (o) (o) =~
[ 0] /’0\:/1@}31
Lo ~) (6~1) (o 1) .
[~ o\ /1o _Jre)_ 7
TRV BRI
/N(D\/“'Q\:/IO\ ~
Lo «/Ve—/) (o ()7L
\_i': I J,Kegel |
[ O\ __ /(L 0]
whae T=\0°1) {6 =)
o [~ ©) | = O

K [ ~ \
e (/) Le -/
et mave. ’FDY X(\:(:O) é(R
\ /
/(% o/ Lo
‘1‘ [i éz ~ ;:\ \:f Z 2: |
(V\,W (1) eN . n»




A EHM
R BE I BY Page Total P . 7
- ’ Question No. ...

-~

Porval

A (Bc)=(AR)NC .

ke Cﬁzﬂ
( 1

)

. ACsckARC -




MM@%&«M@J&M

A(B«\-c)~AB+A(
A+ = ACtBC .
: ove the Pret one
0 atere) =(ap[ (b + Cjel]
Z[ﬁ&. (1>|~B\+C*£)\

-

= 2y W
-._;,a.u b)ﬂ +. 3____/ ') )
n N
_— Za D \\‘_‘
(‘3,’ Ijblﬁ)+ (;z;laqj':g>
=AR t—AC

g A=/ 1N vretht A/ N
LO l o 1/
up,\,(.\z thdueflo  on. N . |
n= | Al=A = (1 2
ka (/)
’ It 20 ‘f’m,e_‘l/”lrv Nn= )
gu,DD«O'QC Ar\:‘/’ n\
| Le 1/
A= ANA = [ ny [y _(Unnly
Le v JLe 1) 6
By MT ., A"=/" n\ VY nep
Lo )




-




Eh R
1didate' Number

QuestionNo. .......... ...

AHBS

Page Total p ?

S
;7
=

o o)
3~ Ke .

R RIRL

Y

2035y | @




e Setue [ 2% tIXs =12
12X 4% (0X3 + 6 Xg T2 X =2f
l_.le 1‘4-)(11(‘)(% 1§ Xg ~EXc =~

‘Mz_aﬁm&_gff@m ;,W%e)fj
X1t Xs t3 Xa :7

X3 = |
X & =2 .
( IX N [ 1Z-3t
| Xa | s B
x| = 1| R
| x4 .+ /
Wwe/ N\ 2 /
=/ 7\ [ [}
{ 0\ ' L/o
I \t> o |T ] 0
0 / Y (
\2/ O/ 0(/

_ exoplee () She
=]

f Xg +X3’2X37+X4»‘+ BXS’
3X(+2%e—~ 4 X33 ~T Xe= 3.
2X =Xyt 2X3 2% 1 bXe =2 .

\LX1 +2X =4 =6

21Xz " ixz‘éYg’-lﬁng—zﬁ :
G ([ NA M (2144 f_-l/ 4 ’A‘: i X ” WL G OnC ot
y »6 \ ! -~ ‘ N
A 104 ‘s Q ’/. Lt ( ovad 6D (T vigye nthona)




D-2) AXv “‘HX'L =0

ALK, - X2) = 0

o Xe =X) ~Xo . CM/\~'7€VB>

Yeke R Atk Xo)= A X T Akx)

R+ K{BXo)

= Bt kD

= R E+0
= B .
Wm Xt k)(o Ao Q@ §o—euifm (R

AX=R g Lh-ﬁm%.&kmaﬁ__s‘zﬂ.m_,__

2 f Ag=8A=T

W Sew B the g A
o ond dedn  B=aT St )
(Lecauo& A'C ’\‘ C

Tﬁ@yﬁmﬂ AF—( ) Unigial

of S pproe. "Ac=ca=1
C=c1=_C(AR)
= () B
=T R




R Sy

date Number :
A
Guestonnio. Moty -
_Let ne N
Define A® = T
A= (A"
Clrien Agn = (A" ,)n
5.,,“0: imdiuetion . N
n=e , A vienag b ;‘n,m_
Suppeae ,A"“ = (\A") '
(A)KAR = @")A'A AS-
- = (a")" 1 AF
= (A Ak
= ATAN by aedde )
=7 (simdate,  AT(A)H=1])
SA)T = ae -

| Lsez ArA% = A1 (aN°> = A’

_w 61@ Q_ M&}fn‘x

U
A= (85), s, AT = A" = (831 pum

[ 2 N\ - /| 2 J\r\
¢g A=[3 4 | A=, o )
C Tt /3
I 6/,
¢ B=L' N g =[1 o\
\0 2/ \I 2 )
H? A 40 S«um,mg)fr‘t(, At"‘ﬁ)
pf: At :(a}\,fm = (o) nen=A
eo /o L 3\T /o I 3|
oo ) =1 o ]
kB C 0/ \3 L D/




AHBED

guow i UL
f_ A A Skew -Symmetric At= A
pf" At = (a}f).mm
1( A M\xh
:“(Ql})nxh‘
= -A

/0 1 =3\t so - 3)

es (-1 o ] =[1 o ]

S\ 3 D, \ ~3 1 v/

/o ] -3\

='/-f o Z\

\3 . o/
ertcza *ﬁa lrzmaoaé. Oporadeon.
(i}(ﬁt)t Dg P
1pf ()" = (255" = (o) =A

m___@g__, (ARt =AT+ B* ) _
____,,..__P-F_.,@i_B)m: (&;; ’be]L)
e = (& J‘"‘-L‘)
zvaj)’r(bﬂ
= At t BT
@y (KAF= kAt . ke R
of (kA = (kg
— f&}t)
:KCO\J‘.‘.>
:Krjt
) (AR = BREA®T .
o (ABYS = (J Qiebay), A, Ben
= (Tiz; bﬁ_? aj ﬁ_)”m




EA@m®m |
ndidate Number o
: I?a:ge "I?otal (2 KX
AE TR ‘
QuestionNo. ..............
t A€ _ B ]
B A — (_E;QLJWP——(—Q)Q,}AK,—Y\
(AB )" = gTA" .
gvn;pm{j (Apc) = ct g*pat
Immnﬂag (A A= Ar Am - AS
_| Exan @& R A L o matvie . Show fhot A A and A
oAl gvfh SepmameAric -
1yt _ £ t/ €t - At
pf (AAD)S = (at)" A AA
, AAt /—(><) QWMYTC
(A0 = AtEt)t =AtA
7 Aﬂt /10 @-Qa»e Qmﬂ_ﬁ)’? C
Camply 8 b 1 sq.. matyi oed

an A un WohA  Gu

&W&{&@nn,m@ﬁf

4 ‘ C
yadix _and o skow Scommetric  mateie
pf S= 4 (A+A%
7= < (A-A%)
S+7 = A
S* ;i (At A)°
T (At+A) = § U S L cupmitie
Tt—M,f (A-A)¢
=LA A) =-T T 4 choed St
ex@rﬂ%(ﬂ)%ﬁwﬁa} : ?70 A suj/m,ma)ty?c _then_
BARE o \a,&m Q««j/mm)hfl(/

@) L A cea B e Wm

NXn_ waety? oo

—

No

Do, that AR BA

3

Skew - Sepmme il



AHBES

Page Total
HE R b

QuestionNo. . .......... ..

[‘)0 ﬂﬁl ecsk - (A-()_) = A

(AS)T lin  ouists . and (AT ) =(ATT
pf (AMA = AR =13
RN V) I

X< + _
(A" A'=(a A=
A (oY= () AT =T
ntL' (A7)

£ 0 gud B pick  and A B ame heth nxn wulia
then  (AR) exigt, o4 (ARY' =BTA
¢, AB(B'A™) = Argg")A
= A 1A

= AR

= 1
BN (AR) = BT (A'AIB=B'T g=R'R=T

Stbuatr (AR = CBTAY (st o trasapen L)
ﬁcﬂl\lﬂl&d’}l\/@jé}‘ (ALHI AM) Am = AZ Al

___@Mmflpﬂ d/ I‘P At and B el i vertt b‘@ hxn  matrlcey
Shovo that A7+rT = A (AtR)B

f AtB i alse imectihle Fid (8"

e A"Mm)B" ( :r_Jrgﬁg)B“’

8+ A A“"—f 87"
(A8 = (A™(A%B) ) = RER'A
exe e M A/g Re nxn m.afnm/\ gacﬂ that I"‘




AHERS

Q%‘iﬁ'éoﬂiﬁéa """""""" Page Total l%b
Not a0l  wafvix  Rae e imepao
o A 40\
A=2 & |
\~ 2 L)
Al = 4 & ! 1 o6 67
> 4 o o 1 b
L~ 2 &y e
Ra—2ROR, D[ 6 &V | © ©~
~ 1o -2 -91-2 | o]
Rt&SR, | » 4 } ) 5 '/__l
rl L 4 | b o7
R2tR35Ry ~ O —& -9 L) |, f
©° o o -1 | o0
VSN ——
65’1575%\”\%’/ & o Yoo pd Zeyps
A u uct  iwetiblo
Detorminant a@ o g%@g "\Xn matrix  (n<3)
o M =(a) = a
by mM=ra, a@ LMJ:MMz Ay %
\QL; ﬂzz/ 1x2 _Qq e
— Q((sz —G2 A,
i—ﬁ [\NJ = % bu ‘DD_]( then IMN): ll\llz IN)
,Dll ‘)LL
Lolfan a2\ by b -—' [ @y by thoebe, Qquz*wam\L
oy aa b b/l [\ bty G beta, b

{QHLHT" an/’m >(a74 L)LT azz Lw) — (ﬁ 2) En t @zzbu) (Q)) EIZ-’L a}zézb)

= R b 0yl huber 00y by by T Auphorh s by

- a!l%&ll a“aZlqu_L—,,/ C(l'L QZ) bl\ Lll —"a)x

2| ALL




EHER
ndidate Number

AERD

P Total
a%%ﬁ | | age i1ota | /40L

_ QuestionNo. . ... ......... .

= 6’\,, é{n“));l?u“.‘)n)n: )‘l‘d)y,ﬁz; (bllLll _—L!!)»")

&'@HAZL'a% Qn/> (BH )77—1‘1))2.%7/) )

‘ =1

6 /M! — a.;\CKz?y/a)v;
Cb, QwL C’(L}
a‘3\ ﬁ;z,\&-j,

_ S,

(M] =Ry, Gez Qaz TQ,o (a3 G31 T R3A21 032
-‘al% 0\215(3) "C(gzé’m @33 - @.;sz&b

3!/[ N ;,?o Lo 3 %3 Séozag,,.p 1M,zj%y?x
MNL

ere. A a0 wedible (e Al edast) i and

o day of lAlL£ D

9302 We Ka o PmA Mg Cael =" _(O)'\’P(I?/z\_

hvs W dge. g o prove ‘@‘f NnN=73

/a\\d aln_ Q)} B o

At A= B % e

\ %y U3,  Gas

[
Lot iy = 0" At [ motrix by dolluey the ithimo o 4)
Y/ ﬂ\_“ﬁz})f'“ [ _L_K . J't(ILcMUU y
e X BT oy @& A




AHEBRS

I Page Total [ q_ L

QuestionNo. .............

@3 C33 = (“l}ﬁ ’ G Az - A'éinl Qe "‘Q:)&n,

l;&l( Gar
CZ?; = (‘])2+3 QH 412 [ = ~ ( &”a;z* QS‘) G,L)
Gy fse
Cy = 1" Uz 23| — (G Gzz —G3, &2%)
&ZL QB\ :
TKD]\ AN %,HA)'P the _gg;pacfm( EXPppln BGLM/‘
det(A) = A5.Ci +85:C t Q3G = 1,23 (o)
_ = QG5 r Oaycap OL:J.C)\ 521,23 (oleons)
L Fdlemae &, c\, t an,(\l t Q3305350 for 1)
C(Mc!. + (23 c,‘ X ag, C3 =0 for ;ﬁ:
. J = J <
Deﬁm—? p / Cn C(FL CIZ \
C7—I G Cag \
D G) QL C”»b/
Wiege Cii Z The CM)HL cofoctse of A-
C A4 Callle] ﬂgi Mw mé Cewaadw ﬂm/
C* A C’aﬁ&/cﬂ w‘/@ )
Aenile (
e Shew {’:,,Qt %Aeot A aocl (A) = Aot (A) T
(e Ao L (a4, 0 C’m \ /Cu Cop Gy
J (Qu Qo Baa )/ Civ Cu (5 |

\Qﬂ G32. Qs /k‘ Ciy, Cv; Gz

A Cu‘t QILCILTQP(C\S : Ck«; Cz;‘f@mnﬂzlf Qn Cv_} Q;;(y t le.sz’falzCz'f. \

]

A Gt GG tlas Cy QoG t Roa Gt Qo3 Gy, L2t (o1 Gy G 23 Gy

% Cut&s GotGs3G 3 O Gt ot G33 C:j Az1 G +G3 Gothss %




ERW

date Number SHES
) Page Total (i’q
oo No.
Aody(A) = [ ety o O _
v ety © | = dot(A) |
% 0 o(ot(A)/
W dtA ko A [ adia) N o T
et () )
q” X8t ard equal T, L d(8)
0 [H‘ J /
AT east AA =T
LA A= (1)
Al (A = )
(Al %2
Q4 Fid the g of tho  patele A = [ 2 4]\
° 0 ( 92)
P 2x tyt42=2 NN
oad fonce sefpe 3 X1 az=3
AX +34 t 2=-
[Cnd=r]02] |12 lto] 7 -6 33
S X 123 L ¢ ¢
|| & > ] | 2 | L N e Y
13 2 l( R
|14 2 4 R
Lle 2 Y Lol ]
ey A= (Cu\ = /76 11 2
oz -l o
\3 ¢ -t/
Al =] 2 (4| Ly >
L e 2| =1 Tlaena-]|
2 2 || 3 P
I R



AHEES

Page Total
(L

A RE TR
Question No

dM

IR

Secnmd pa

AX =1

=A

(7A) X = A
I X =AH

l‘\r‘

Aax

A H

3
4 ) -

[ 3\

d

)\ Oud
Lz 3/

(

of [ 1

ANCALL

o

QK@Y‘/QS,& . Firnd fho a

—

PX ~Y +2

)

o
i i
Q\A
i N
JQU%
R
X R
3




T T WTY RN ST LWV WA GSmsurRIvEEE

%é—;ﬁ% v' ' NI W IVW SIW I IW IR B

Candidate Number

AEBES
Page Total / A a

AR R

QuestionNo. .. ............

MW%%M%

D’roa/m/mma,ﬂpa a,ZJv 760 :

ﬁgﬂfﬁ \&4@ oy QIlAé/ eﬁw,/ molhotls Such g -

@) Matrix ()ﬂjmfﬁ/mﬂ (CHamslton = Cacles, -JL/MM@W\/B
LK B =(a b\ Be ap, Lﬂld’ ?A:\ai'yl,«
| \c o) d .' |
B B* —(a+d) R+ (Aot R) T =0 (#e zer motrin)

e (o blla LY _ [ akbe  abthA )
B :k C o(/kc 0(/ kﬁC’l'CoQ .-Ecw(”}

—-((’/’C{"U\)h — /-6 ad ““b"l)ﬁ/\ \
b ’ . ("%c-cok ‘M(‘O(z/
det (R) T — [ad-bc o\

1) ( 2 ad-b c:/

B~ (asd\ B+ dof(®)T = > B,

(t ‘F«%’L{M ‘d\g;(? OA%& 2x2  matvix Saii?ﬁ?p,n &,

_‘_%AMQ'F(Q e ad o .
6:/~zb 2\ 1t Lo Hat B3R 42120
4 L4 )
C

REL(R-37Y][ =7
B\ \ /o i.\ — (//~z =3Y /3 o)
A A L N AT T T Y]
S R
\‘4 7,) kﬂ- ~p/’




AHKES
Page Total

(G b

AR R

QuestionNo. .. ...........

Finding  the (n 6N> Ay

D ),\)PA'K

aﬁ_mUp,m
d

bx )

/

[N

™08 =207

éZ”’»/)/B +(2-2")7T

@""" e Toomg ofl B ans 172

Exeypige(l)

£ A=

/[

20

\

4 3/

Loud_ om md.ztug_gﬂ,«d:&u.

nd  Kencs

Lot

(A9)°
.

@) F p-(1r 0 ©

L)

,l NS

>

show that A - 4= pET

\ s 3

(
2

ane_km

ndicfimn_that Vh

Hepco_ 40“\4 Ao O

[

.Z 1}




